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PERIMETER AND AREA

1. A rectangle ABCD measures 16 cm by 14 cm
Find its perimeter and area. Later a 2 — cm

square is cut off from one end Find the


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RYtnBFx4Ra6R

perimeter and area of the new polygon thus

formed as shown in

&2

o Watch Video Solution

2. A wall is 11 m long and 4 m high. It has a
door which is 2 m high and 1.5m wide. Find
the cost of painting the wall at the rate of Rs 6

per sq. m.

° Watch Video Solution



https://dl.doubtnut.com/l/_RYtnBFx4Ra6R
https://dl.doubtnut.com/l/_ySqtJlJR6DFB
https://dl.doubtnut.com/l/_n6JjnYnbJduA

3. Arectangular running track measures 300 m
by 250 m. Parul takes 4 rounds of this park
every evening. What distance does she run in a

week ?

° Watch Video Solution

4.The are of a square is the same as that of a
rectangle. If the side of a square is 60 m and
the breadth of the rectangle is 48 m, find the

length of the rectangle.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_n6JjnYnbJduA
https://dl.doubtnut.com/l/_m67FmWM9dS2p

5. A rectangle has perimeter 132 cm. Its length
is 9 cm more than twice its breadth . Find its

area.

° Watch Video Solution

6. A rectangle is made up of 16 squares of side
1 cm each. What possible dimensions can the

rectangle have ?

° Watch Video Solution



https://dl.doubtnut.com/l/_m67FmWM9dS2p
https://dl.doubtnut.com/l/_lz2q7F9rwKSD
https://dl.doubtnut.com/l/_BXaw8caZA5zg

7. The area of a square is 1 sq. m Express the

area of this square is sq. mm.

A. 1,00,00,000 sq mm

B. 10,00,000 sq mm

C.1,00,000 sq mm

D. 20,00,000 sq mm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BXaw8caZA5zg
https://dl.doubtnut.com/l/_EH90Plr165vg

8. How many squae tiles of side 1 cm each are

requied to cover a square area of side4 m?

° Watch Video Solution

9.The area of a rectangle is 10 sq. cm. Express

the area in terms of sq. m

o Watch Video Solution



https://dl.doubtnut.com/l/_eh4PSuE5cSFl
https://dl.doubtnut.com/l/_OnCwiijTj4Je

10. A rectangle measures 24 cm by 15 cm. One
diagonal divides the rectnagle into two

triangles. Find the area of each triangle.

[P

A.190sq. m
B. 180sqg. m
C. 200sqg. m

D.370sq. m

Answer: B

‘ ° Wiak hh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_9LaLJk38cQCm
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11. One side of a parallelogram is 16 cm. With
this side taken as base, the corresponding

height is 9 cm. Find its area.

A. = 149sq. m
B. = 164sq. m
C. = 144sq. m
D. = 244sq. m
Answer: C

| s ]


https://dl.doubtnut.com/l/_9LaLJk38cQCm
https://dl.doubtnut.com/l/_PPJ6tTuXxPh3

| ¥ Watch Video Solution ]

12. ABCD is a paralllelogram DP and BA are
perpendiculars fromo D and B on AB and AD.
Respectively. Given
AP = 16cm, BC = 10.8cm, DP = 9cm,
find BQ.

[

o Watch Video Solution



https://dl.doubtnut.com/l/_PPJ6tTuXxPh3
https://dl.doubtnut.com/l/_gJUkd0A8RHR9

13. The base of a parallelogram is three times
its corresponding height. If the area of the

parallel logram is 147 sq. cm, find its base.

o Watch Video Solution

14. PLOT is a parallelogram with base 22 cm
and its corresponding height is 10 cm. If PO is
a diagonal of this paralleogram, find the ara of

the APLO.

L

A

| & I


https://dl.doubtnut.com/l/_1O6uwcpmBy6H
https://dl.doubtnut.com/l/_iUMJGNrbBqj5

| ¥ Watch Video Solution |

15. Find the area of a triangle with base = 18

cm and height =12 cm.

A. 128 sg.cm

B.110 sq.cm

C.108 sg.cm

D. 109 sqg. cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iUMJGNrbBqj5
https://dl.doubtnut.com/l/_n1BaQi5ECPxL

16. Find the ara of the given obtuse-angled

triangle ABC.

Mem C

° Watch Video Solution

17. The hypotenuse of a right-angled triangle is

17 cm. If the base is 15 cm, find the area.


https://dl.doubtnut.com/l/_n1BaQi5ECPxL
https://dl.doubtnut.com/l/_2P87iaM9ACrb
https://dl.doubtnut.com/l/_d1d3ubglu5Dv

&2

o Watch Video Solution

18. The perimeter of an isosceles triangle is 36

cm and its base is 10 cm. Find its area.

&2

o Watch Video Solution



https://dl.doubtnut.com/l/_d1d3ubglu5Dv
https://dl.doubtnut.com/l/_XITVQ5Qsj4Gv

19. In the given triangle ABC, find AE.
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° Watch Video Solution

20. ABCD is a parallelogram DP s
perpendicular to AB. Given

BD = 5¢m, AP = 3cm. and area  of


https://dl.doubtnut.com/l/_DrNXAxyXOOa3
https://dl.doubtnut.com/l/_lI95oaNogXNR

AADP =6 sq. cm, find the perimeter of

ABCD.

° Watch Video Solution

21. PQRS is a quadrilateral with diagonal
QS = 26cm. PB and RA are perpendiculars
from P and R on QS such that PB =8 cm and RA
= 12 cm. Find the area of the quadrilateral
PORS.

Lo

o Watch Video Solution



https://dl.doubtnut.com/l/_lI95oaNogXNR
https://dl.doubtnut.com/l/_QaW0iSc3Bbg0

22. A triangle ABC is such that AD is
perpendicular to BC and E is a point on DC.
Also. Given that
BD = 2cm, DE = 4cm, and EC = 8cm.

Find the ratio of the areas of AABC |,

AADE and AAEC.

A
‘f \\‘ 5\
: \ \\_.
i

° Watch Video Solution



https://dl.doubtnut.com/l/_QaW0iSc3Bbg0
https://dl.doubtnut.com/l/_rGx56C0UyokH
https://dl.doubtnut.com/l/_Zsgo4NOMgggL

23.In AABC, side AC =15 cm. AD and BE are
perpendiculars from A and B on opposite
sides, respectively, If AD=12 cm and BE = 16 cm,
find the length to BC.

L.

L

o Watch Video Solution

24.1n DetlaABC, AD is perpendicular to BC.
If AD = 12 cm, area of AADB = 90sq. cm.

and area of DetlaADB: area


https://dl.doubtnut.com/l/_Zsgo4NOMgggL
https://dl.doubtnut.com/l/_yNsTXT9rmof3

De < taADC = 2:3, find BD and DC.
A

N ¢

o Watch Video Solution

25. Find the circumference of a circle with

radius 3.5cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_yNsTXT9rmof3
https://dl.doubtnut.com/l/_xDxv6pN6OIWL

26. Find the diameter of a circle if its

circumference is 66 cm.

A. 41 cm

B.31cm

C.21cm

D.51cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xDxv6pN6OIWL
https://dl.doubtnut.com/l/_IQTgoMBUc8M9
https://dl.doubtnut.com/l/_D4scX1TjRrES

27.Find the perimeter of a semicircular disc of

radius 14 cm.

&2

A.42 cm

B.92 cm

C.72 cm

D. 82 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_D4scX1TjRrES

28. What increase in the radius of a circle will
result in an increase of 187 cm in the

circumference ?

o Watch Video Solution

29. If the radius of a wheel is 14 cm, find the

distance covered in 150 revolutions.

A. 15, 200cm

B. 13, 200cm


https://dl.doubtnut.com/l/_gRFX6zpnIpad
https://dl.doubtnut.com/l/_vkIt4fMIf9lC

C. 14, 200cm

D. 16, 200cm

Answer: B

° Watch Video Solution

30. Find the area of a circle with radius 3.5¢m.

° Watch Video Solution



https://dl.doubtnut.com/l/_vkIt4fMIf9lC
https://dl.doubtnut.com/l/_VXedwOXkaxRb

31. IF the radius of a circle is doubled, by how

much will the area ?

A. 2 times

B. 3 times

C. 4 times

D. 5 times

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hjWGNljsPged
https://dl.doubtnut.com/l/_fXXC1QvZ9zT6

32. The area of a circle is 36mwsq. m Find its

circumference.

A. 18mrem

B.12mem

C.l4mem

D. 16rem

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fXXC1QvZ9zT6

33. A circular park is of radius 35 m . A walkway
3.9m wide runs along its outer edge. Find the
cost of constructing this walkway at the rate

of Rs 170 per sq. m.

&2

o Watch Video Solution

34. Convert the as directed

40 sq.m into sq. cm

° Watch Video Solution



https://dl.doubtnut.com/l/_rwYC52FXka09
https://dl.doubtnut.com/l/_9WTXGZ1w3La3

35. Convert the as directed

35 hectare into sq. m

o Watch Video Solution

36. Convert the as directed

2.6 sq cm into sq. mm

o Watch Video Solution



https://dl.doubtnut.com/l/_9WTXGZ1w3La3
https://dl.doubtnut.com/l/_6gvVsNkwNs2d
https://dl.doubtnut.com/l/_CitrvI1OInoK

37. A rectangular plot is 60 long and 60 m
wise. Two roads parallel to its sides run
through the centre. The width of the road
running parallel to the length is 2 m and that
of the other road running parallel to its width
is 1.bm. Find the area of the roads and the
area of the remaining portion of the field.

[P

o Watch Video Solution



https://dl.doubtnut.com/l/_FE9riG9GleD8

38. Find the area of the shaded region.

&2

° Watch Video Solution

39. ABCD is a square of side 70 cm. Four
quarter circles are drawn at each vertex of the
square as shown in the Find the area of the

shaded region.

&2

° Watch Video Solution



https://dl.doubtnut.com/l/_Hv2qeFrsjWfA
https://dl.doubtnut.com/l/_hoe6nDv7bc4A

40. Given is a circle with AB as a diameter of 21
cm. Points C and D lie on the diameter such
that AC =Tem,CD = DB = Tcm.
Semicircles are drawn on the diameter as

shown. Find the area of the shaded region.

o Watch Video Solution



https://dl.doubtnut.com/l/_hoe6nDv7bc4A
https://dl.doubtnut.com/l/_6w0GVQrx7dYy

1. The following figures are made of 5 squares
each square has side of 1 unit length. Find the

perimeter of each of the given

—e
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o Watch Video Solution



https://dl.doubtnut.com/l/_ReqKPawvESIf

2. Find the perimeter of a hexogon of side 7

cam.

o Watch Video Solution

3. Find the area of a square of side 8 m.

o Watch Video Solution

4. Find the ara of a rectangle of length 12 cm

and breadth 8.5¢m.


https://dl.doubtnut.com/l/_GTcx4muTrptb
https://dl.doubtnut.com/l/_nSl0uKKRSCLx
https://dl.doubtnut.com/l/_rGBHnIvWg5kr

A. 109 sg.cm

B.102 sq.cm

C. 106 sg.cm

D. 108 sq. cm

Answer: B

o Watch Video Solution

5. Find the cost of levelling a field measuring

75 m by 60 m at the rate of Rs 8 per sq. m .

| 8 l


https://dl.doubtnut.com/l/_rGBHnIvWg5kr
https://dl.doubtnut.com/l/_Xzrkh4G8JKfC

6. Find the perimeter of an equilateral triangle

of side 13 cm.

° Watch Video Solution

7. Find the perimeter of an isosceles triangle

with base 14 cm and equal sides 10 cm each.

o Watch Video Solution



https://dl.doubtnut.com/l/_Xzrkh4G8JKfC
https://dl.doubtnut.com/l/_fE5izZsarsm1
https://dl.doubtnut.com/l/_qAQKBt6sNUgj

8. The perimeter of a rectangle is 32 cm. Find
its maximum possible area if the sides of the

rectangle are whole numbers only.

o Watch Video Solution

9. Find the area of all possible rectangles
whose sides are only whole numbers, given

that the perimeter of the rectangels is 18 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_japOfGOyivsR
https://dl.doubtnut.com/l/_PwJnmO0iwWvD
https://dl.doubtnut.com/l/_0W3jbzTicxjs

10. The cost of wall-towall carpeting of the
floor of a room is Rs 24,000 if the room is 20 m
lonog and the carpet costs Rs 100 per sq. m,

find the breadth of the room.

° Watch Video Solution

Exercise 17 1

1. PQRS is a rectangle measuring 42 cm by 15

cm. Find its perimeter and area. A portion

from one end of the rectangle is cut off as


https://dl.doubtnut.com/l/_0W3jbzTicxjs
https://dl.doubtnut.com/l/_cpvQnbJVhGak

shown in the perimeter and area of the new

gigure thus formed.

~ B | .
3
a
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| 4,
0 P

o Watch Video Solution

2. A garaden is 20 m by 16 m. In the middle of
the garden, there is a square comented
platform of side 3 m. Find the cost of weeding
the gerden at the rate of Rs 7 per sq. m

L.

A


https://dl.doubtnut.com/l/_cpvQnbJVhGak
https://dl.doubtnut.com/l/_H4DJOXzPaCWL

° Watch Video Solution

3. A field is 30 m by 22 m. Along the length of
the field, a rectangular plot of 9 m by 4 m is
cut off for a entry gate and a small parking.
How much wll it cost to plant fresh grass in

the field at the rate of Rs 45 per sq.m ?

° Watch Video Solution



https://dl.doubtnut.com/l/_H4DJOXzPaCWL
https://dl.doubtnut.com/l/_nwFOUHXAgS1N

4. A wall is 12 long and 4 m high. There is a
rectangular window measuring 2.5m by 2m in
the wall Find how much it will cost to paint

the wall at the rate of Rs 22 per sq. m.

o Watch Video Solution

5.Sara takes 7 rounds of a park that measures
200 m by 150 m. What distance does she cover

? Express your answer in kilometers.

o Watch Video Solution



https://dl.doubtnut.com/l/_cQ5IFmV6dEsq
https://dl.doubtnut.com/l/_tkCi6QxPWmpy

6. A boundary hedge needs to be planted
around a field measuring 150 m by 80 m. If 4
shrubs can be planted at every 1 m of hedge,

how many shrubs will be planted around the

field ?

L

L

o Watch Video Solution

7. A wire is in the shape of a square of side 15

m. If it is opened and shaped as a rectangle of


https://dl.doubtnut.com/l/_tkCi6QxPWmpy
https://dl.doubtnut.com/l/_9RsXxqPdP2Ya
https://dl.doubtnut.com/l/_v4PYdKECkafy

width 12 m, find its length.

o Watch Video Solution

8. A square and a rectangle are equal in area. If
the side of the square is 24 cm and the length

of the rectangle is 32 cm, find its breadth.

o Watch Video Solution

9. Find the dimension of a rectangle whose

perimeter is 112 cm and whose breadth is 4 cm


https://dl.doubtnut.com/l/_v4PYdKECkafy
https://dl.doubtnut.com/l/_ldFV9dj729Rl
https://dl.doubtnut.com/l/_x7vF14wP17Pc

less than half its length.

o Watch Video Solution

10. How many squares of each side 1 cm are

required to build a square of side 8 cm ?

° Watch Video Solution

11. A rectangle is made up of 12 square of side
1 cm. What possible dimensions can the

rectangle have ?


https://dl.doubtnut.com/l/_x7vF14wP17Pc
https://dl.doubtnut.com/l/_wwCBn0hZnt2Z
https://dl.doubtnut.com/l/_Gre4Qjgg2MCR

° Watch Video Solution

12. A rectangle measure 30 cm by 25 cm. A
diagonal divides the rectangle into two

triangles. Find the area of each triangle.

° Watch Video Solution

13. Find the area of the polygons A and B

inside the rectangel as given.

&2

| e |


https://dl.doubtnut.com/l/_Gre4Qjgg2MCR
https://dl.doubtnut.com/l/_hA92t9NFq9SY
https://dl.doubtnut.com/l/_GZJEHVlM83jF

& Wwatch Video Solution I

14. Each of the given rectangles is composed

of congruent polygons. Find the area of each

polygon.

Lo

° Watch Video Solution

15. Two friends need a triangular chart paper
for a project. They buy a rectangular chart

paper of length 30 inches and breadth 20


https://dl.doubtnut.com/l/_GZJEHVlM83jF
https://dl.doubtnut.com/l/_rz2VC0KFgW5C
https://dl.doubtnut.com/l/_u5dWPSCXcorl

inches. They cut is across the diagonal and
keep one piece each for their respective

projects. Find the area of each friend's chart

paper.

° Watch Video Solution

Exercise 17 2

1. Find the ara of a parallelogram whose one
side is 22 cm and its distance from the

opposite side is 12 cm.



https://dl.doubtnut.com/l/_u5dWPSCXcorl
https://dl.doubtnut.com/l/_laUdcC9WDKu0

o Watch Video Solution

2. The of area parallelogram is 406 sq. cm. lts
height is 14 cm. Find the length of one of its

sides.

o Watch Video Solution

3. The adjacent sides of a parallelogram are 12
cn  and 10 c<m, respectively. If the

perpendicular distance between the longer


https://dl.doubtnut.com/l/_laUdcC9WDKu0
https://dl.doubtnut.com/l/_7th2CVURx9IA
https://dl.doubtnut.com/l/_lgrC1xBC9USo

sides is 5 cm, find the perpendicular distance

between the shorter sides.

° Watch Video Solution

4, ABCD is a parallologram. From C
perpendiculars CS and CT are drpopped upon
AB and AD, respectively. Given
AB = 16cm, CS = 9cm, and CT = 8cm,

find BC.

° Watch Video Solution



https://dl.doubtnut.com/l/_lgrC1xBC9USo
https://dl.doubtnut.com/l/_INUMmHUkS7GA
https://dl.doubtnut.com/l/_VfrfsoQ1c8P9

5. Find the height of a parallelogram whose
area is 320 sq. cm and base is 5 times its

height.

° Watch Video Solution

6. The area of a parallelogrma is 288 sq. m.
Find the base given that its height is half its

base.

° Watch Video Solution



https://dl.doubtnut.com/l/_VfrfsoQ1c8P9
https://dl.doubtnut.com/l/_9X0BZMa0uEHx
https://dl.doubtnut.com/l/_sGeyk6gRqEou

7. ABCD is a parallelogram where DE is
perpendicular to AB. If BD= 17 cm, AE = 15 cm,

and area of AADFE = 60sq. cm, find the

perimeter of ABCD.

A ——e

| "c.

'

o Watch Video Solution

8. LMNO is a parallelogram where OP is
perpenducular to AB. If

OM = 20ecm, LP = 9¢m, and area of


https://dl.doubtnut.com/l/_sGeyk6gRqEou
https://dl.doubtnut.com/l/_u94ZJ8VmLKeR

ALPO = 54sq. cm, find the perimeter of

LMNO.

° Watch Video Solution

9. The ratio between the base and height of a
triangular field is 3: 2. The cost of cultivating
the field at Rs 65 per sq. m is Rs 3,12,000. Find

the base and the height.

o Watch Video Solution



https://dl.doubtnut.com/l/_u94ZJ8VmLKeR
https://dl.doubtnut.com/l/_nUrFUjyR4sfx

10. The area of a triangle is 315sq. cm. If the

base is 18 cm, find its altitude.

o Watch Video Solution

11. The legs of a right- angled triangle area in
the ratio 5:12. If its ara is 120 sq. m, find the

legs.

o Watch Video Solution



https://dl.doubtnut.com/l/_nvMb0A6IajdR
https://dl.doubtnut.com/l/_vJQpbt4TdURb

12. Find the ara of a right-angled triangle with

hypotenuse 25 cm and altitude 24 cm.

° Watch Video Solution

13. Find the area of an isosceles triangle which
has:
a . Base 16 cm and equal sides 17 cm each.

b. base 24 cm and equal sides 20 cm each.

o Watch Video Solution



https://dl.doubtnut.com/l/_C4bdHvwWGo4v
https://dl.doubtnut.com/l/_Q54PBlutPYUj
https://dl.doubtnut.com/l/_wDpyY9WWDUfs

14. Find the area of a quadrilateral which has
one diagonal measuring 22 c<m, and the
perpendiculars from the opposite vertices on

this diagonal are 6 cm and 10 cm, respectively.

o Watch Video Solution

15. The ara of a quadrilateral is 780 sq. cm One
of its diagonals measures 30 cm. If the
perpendicular from one of the oppsite vertices

on this diagonal is 15 cm, find the length of


https://dl.doubtnut.com/l/_wDpyY9WWDUfs
https://dl.doubtnut.com/l/_i7p9VSs2DtiG

the perpendicular on this diagonal from the

other vertex.

° Watch Video Solution

16. In AABC, the perependicular from A BC
meets BC at D such that
BD = T7Tecm and DC = 12¢m. Find the ratio

of the areas of the triangles ABD and ADC.

o Watch Video Solution



https://dl.doubtnut.com/l/_i7p9VSs2DtiG
https://dl.doubtnut.com/l/_kcC6rRjbmTDs

17. The perpendicular from P and QR in the
triangle jJPQR meets QR at S. Alsl, T is a point
on SR sch that QS
= 3cm, ST = 4ecm, and T = 8cm. Find
the ratio of the areas of the triangles PQS , PST

and PTR.

o Watch Video Solution

18.In AABC, AD and CE are perpendiculars

from A and C on the opposite sides. If


https://dl.doubtnut.com/l/_j4cZetQCKJTX
https://dl.doubtnut.com/l/_fHEMm80Pybye

AD = 6ecm. BC = 14em, AB = 10cm, find

CE.

° Watch Video Solution

19. In ALMN,NT 1 LM. Area of
ALMN = 72sq. m and NT = 9cm. If area
of ANTL, area of ANTM =1:3, find LT

and TM.

o Watch Video Solution



https://dl.doubtnut.com/l/_fHEMm80Pybye
https://dl.doubtnut.com/l/_s9vYQuOjma1b

20. IF the circumference of a circle is 52.8cm,

find its radius.

o Watch Video Solution

21.If the perimeter of a semicircular plate is 36

cm, find its radius.

o Watch Video Solution



https://dl.doubtnut.com/l/_VNHWhQjU4fbo
https://dl.doubtnut.com/l/_h0G8nHz316x8

22. The ratio of the circumference of two

circles is 4: 5. Find the ratio of their radii.

° Watch Video Solution

23. If the radius of a circle is increased three
times, by how many times will the

circumference increase ?

° Watch Video Solution



https://dl.doubtnut.com/l/_F6fhyLuxzYsm
https://dl.doubtnut.com/l/_QTAnQdVvmeRd

24. What length of rope is required, if 6 rounds
of rope are needed to put around the fence of

a circular track of radius 490 m.

o Watch Video Solution

25. The minute hand of a clock is 3.5¢m long.

What distance will its tip cover in 1 hour ?

° Watch Video Solution



https://dl.doubtnut.com/l/_W9zQMJYfqU4k
https://dl.doubtnut.com/l/_1aKBaiwDdrCR

26. Find the area of a circular park with

diameter 70 m.

o Watch Video Solution

27. If the ara of a circular field is 1386 sw. m ,

find its radius.

o Watch Video Solution



https://dl.doubtnut.com/l/_Q6RkE67v2VMe
https://dl.doubtnut.com/l/_ymbSzin54yQd

28. If the ratio of the areas of two circles is

9:16, find the ratio of their radii.

° Watch Video Solution

29. If the radius of a circle is 3 times that of

another circle, find the ratio of their areas.

o Watch Video Solution



https://dl.doubtnut.com/l/_0ZDVOsyStS8r
https://dl.doubtnut.com/l/_E1NJ2IpvC6uV

30. If the area of a circular pond is 497sq. ft
what will be the cost of erecting a 2 feet high

wall around it at Rs 50 per feet ?

o Watch Video Solution

31. IF the circumference of a circular plate is

127 units, what would be its area ?

° Watch Video Solution



https://dl.doubtnut.com/l/_iLcdXKrXBaxd
https://dl.doubtnut.com/l/_1OoWvMIEwyAP

32. A circular track is such that its inner
circumference is 264 m. If the width of the
track is 7m, find the cost of track at the rate of

Rs 40 per m.

o Watch Video Solution

33. A circular plot of land is of radius 49 m. A
path 3.5m wide needs to be paved around this

plot. Find the cost of paving this path at the


https://dl.doubtnut.com/l/_mZrgmWAeA4EK
https://dl.doubtnut.com/l/_9ztf4aGem61b

rate of Rs 30 per sq. m

&2

° Watch Video Solution

Exercise 17 3

1. Convert the as directed

44 sq. mm into sq.cm

o Watch Video Solution



https://dl.doubtnut.com/l/_9ztf4aGem61b
https://dl.doubtnut.com/l/_kCGiP6Y77n7g

2. Convert the as directed

12 hectare into sq. m

o Watch Video Solution

3. Convert the as directed

70 sq.cm into sq. m

o Watch Video Solution



https://dl.doubtnut.com/l/_8FJ7E7pupMms
https://dl.doubtnut.com/l/_QDYQNTP4sGEZ

4. Convert the as directed

1000 sq. km into sq. m

o Watch Video Solution

5. Convert the as directed

1000 sq. m into sg.cm

o Watch Video Solution



https://dl.doubtnut.com/l/_pqFOp2Nh8ndv
https://dl.doubtnut.com/l/_q46NCIqoK2gQ

6. Convert the as directed

110 sq. m into sq. km

° Watch Video Solution

7. A rectangular 75 m by 60 m has a 1.5m wide
path runing around outside it. Find the cost
gravelling this path at the rate of Rs 8 per sq.

m

o Watch Video Solution



https://dl.doubtnut.com/l/_yYM0ii4f9NK2
https://dl.doubtnut.com/l/_C43O3gCgVxh0
https://dl.doubtnut.com/l/_n6NP6G4gbcKo

8. A smiley face of radius 3.5c¢m is creted by
cutting out two circular eyes of radius 0.35cm
each. A triangular nose with base 1.4cm and
height 1.2¢m, and a semicircular mouth of

radius 0.7cm. Find the ara of the cut-out face.

o Watch Video Solution

9. A rectangular grassy plot measures 90 m by
65 m. Two pathways, each 1.5m wide are

running through the middle of the plot,


https://dl.doubtnut.com/l/_n6NP6G4gbcKo
https://dl.doubtnut.com/l/_9yqlEQdbp3Vl

parallel to its length and breadth. Find the

area of the grassy portion.

° Watch Video Solution

10. Find the ara of the shaded portion in the

following

&2

° Watch Video Solution



https://dl.doubtnut.com/l/_9yqlEQdbp3Vl
https://dl.doubtnut.com/l/_HKGqIpkWilO5

11. A rectangle has length 40 cm and breadth
30 cm, it has an ecternal isosceles triangle
with equal sides of 17 cm each along one of its
smaller sides as the base of te triangle. Find

the pentagon thus formed.

o Watch Video Solution

12. ABCD is a rectangle measuring 60 cm by 50
cm P,Q,and R are the points on AB, AD , and BC,

respectively, such that


https://dl.doubtnut.com/l/_zminTft8Doli
https://dl.doubtnut.com/l/_UPlrRpaHMr2r

AP = 40cm, AQ) = 20cm, and BR = 40cm.

Find the area of the polygon QPBCD.

° Watch Video Solution

13. A rectangular field measures 25 m by 14 m.
Along the side measuring 14 m, a semicircular
platform with the diameter along the side of
the field is made. Find the area of the

remaining field.

° Watch Video Solution



https://dl.doubtnut.com/l/_UPlrRpaHMr2r
https://dl.doubtnut.com/l/_2r9hTskwze76
https://dl.doubtnut.com/l/_kbAR89IA7Wh7

14. A square garden measures 30 m by 30 m.
Two flower beds in the shape of a quarter
circles are made with two opposite vertices as
centres. If the radius of each of the quarter
circles is 7 m, find the portion of the garden

with grass.

o Watch Video Solution

15. A small card is in the shape of an isosceles
triangle with a semicircle on its base. If the

diameter of the semicircle is 6 cm, and the


https://dl.doubtnut.com/l/_kbAR89IA7Wh7
https://dl.doubtnut.com/l/_fvdnIKVtmbDk

hright of the triangle is 3 cm, find the area of

the card.

° Watch Video Solution

16. Find the area of the given

&2

o Watch Video Solution

Revision Exercise


https://dl.doubtnut.com/l/_fvdnIKVtmbDk
https://dl.doubtnut.com/l/_xA2Y35BX89Iw

1. ABCD is a rectangle as shown in the given
From corners B and D , rectangular portions
are cut off as shown in the Find the perimeter
and area of the original rectangle and also the
polygon obtained by cutting off portions from

corneers B and D.

D D S__("
|1
,'; Ugm ! | 8
- ‘0 e
o=

- Al }c:l 5

A 13em B . 1 Yem -

o Watch Video Solution



https://dl.doubtnut.com/l/_iShiGqsjoivd
https://dl.doubtnut.com/l/_gPSbO0ox1yG8

2.Fill in the blank

9sq. Cm = sq. mm

o Watch Video Solution

3. Fill in the blank

12sq. m = sq. km

o Watch Video Solution



https://dl.doubtnut.com/l/_gPSbO0ox1yG8
https://dl.doubtnut.com/l/_RFUiiCE9iEZr

4. Fill in the blank

4sq. m = $q. cm

o Watch Video Solution

5. Fill in the blank

6sq. mm = sq. cm

o Watch Video Solution



https://dl.doubtnut.com/l/_utCvowqWZhHd
https://dl.doubtnut.com/l/_zx3yPu2H6Cko

6. Fill in the blank

10sq. cm = s$q. m

o Watch Video Solution

7. In the given find the area of the shaded
region. Also, find the shaded portion at the

rate of Rs 12 per sq. m.

&2

o Watch Video Solution



https://dl.doubtnut.com/l/_FcC6GCYx9D0Z
https://dl.doubtnut.com/l/_b2W2lXowBDfd
https://dl.doubtnut.com/l/_a7gE8mpRmFUB

8. Find the area of a rectangle whose
perimeter is 110 m and whose length is 5 m

less than twice its breadth.

o Watch Video Solution

9. The area of a parallelogram is 90 sq. cm. If

the base is 12 cm, find its height.

° Watch Video Solution



https://dl.doubtnut.com/l/_a7gE8mpRmFUB
https://dl.doubtnut.com/l/_8lNAfhcNqdQ4

10. PQRS is a parallelogram  with
PQ = 15¢m, ST = 10cm, and QV = 12cm.

Find PS.

o Watch Video Solution

11. Find the area of a triangle with base 15 cm

and height 8 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_NHuqRLqf7P6y
https://dl.doubtnut.com/l/_rwvNsLxQuTvg

12.In the given triangle ABC, find the length of

the base BC.

&2

o Watch Video Solution

13. ABCD is a quadrilateral  with
AFE = 20cm, CF = 36cm, and BD = 56¢cm.

Find the area of the quadrilateral ABCD.

&2

o Watch Video Solution



https://dl.doubtnut.com/l/_F8zSOzQfkkJF
https://dl.doubtnut.com/l/_YpEAbvUmlsQd

14. ABC is an isosceles triangle with
AB = AC and BC = 16cm and
perpendicular AD from A on BC = 6 cm. Find
the ara of the triangle ABC. Also find the
length of the perpendicular from B on AC.

L

L

o Watch Video Solution

15. The area of a circle is 1386 sq. cm, find its

circumference.


https://dl.doubtnut.com/l/_YpEAbvUmlsQd
https://dl.doubtnut.com/l/_5yKyFbyaF96x
https://dl.doubtnut.com/l/_bVwpPq18iQT6

° Watch Video Solution

16. The inner circumference of a circular track

is 440 m. The track is 3.5m wide all around

Find the outer circumference and also the

area of the track.

o Watch Video Solution

17. Find the area of shaded regions in the

following Take m = 3.14.


https://dl.doubtnut.com/l/_bVwpPq18iQT6
https://dl.doubtnut.com/l/_05OcFC0NEGj0
https://dl.doubtnut.com/l/_ZnPTiwqExmNT

&2

o Watch Video Solution

18. The length of a rectangle is 3m more than 5
times its breadth. Find the area of the

rectangle if its perimeter is 90 m.

o Watch Video Solution

19. PLOT is a rectangel with length 22 cm and

breadth 16 cm. PO is a diagonal of this


https://dl.doubtnut.com/l/_ZnPTiwqExmNT
https://dl.doubtnut.com/l/_W81EXoh9qbfq
https://dl.doubtnut.com/l/_pn6pzeZaijlW

rectangel. Find the ara of the APLO.

o Watch Video Solution

20. A rectangular scarf measures 90 cm by 80
cm. Two friends cut it across one of the
diagonals and thus each has a triangular scarf.

Find the ara of each trianglar scarf.

° Watch Video Solution



https://dl.doubtnut.com/l/_pn6pzeZaijlW
https://dl.doubtnut.com/l/_7ZTfpEQ69tu0

21. LMNO is a parallelogram where OP is
perpenducular to AB. If
OM = 20ecm, LP = 9¢m, and area of
ALPO = 54sq. cm, find the perimeter of

LMNO.

o Watch Video Solution

22.In AABC, perpendiculars AP and CQ are
droped from vertices A and C on opposite

sides BC and AB, respectively. If


https://dl.doubtnut.com/l/_V4BXpdTpWXnJ
https://dl.doubtnut.com/l/_W1tOkNqMGGxd

AB = 10cm, BC = 16ecm, AP = 8.8cm,

find PQ .

° Watch Video Solution

23.In AAST, where TP 1 SA, area equals
204 sqg. cm. Given that TP = 17cm and area
of ATSP: area of ATAP = 3:5, find SP

and PA.

o Watch Video Solution



https://dl.doubtnut.com/l/_W1tOkNqMGGxd
https://dl.doubtnut.com/l/_X9gTHYtPJajN

24. The radii of two circles are in the ratio

2:5. What is the ratio of their areas ?

o Watch Video Solution

Unit Practice Paper V

1. Calculate the area and perimeter of the

shapes with different dimeansions. Write your


https://dl.doubtnut.com/l/_xrkZemQpfG3f
https://dl.doubtnut.com/l/_3LnsGOYT4PBu

answer in the given table.

Square a.ﬁ-«m |
I | » ,Qz-o.nm- Sl ( & 5l
| I I YT N B w
Rectangle d | Length = 4mm, Width = 3mm ‘
[ | e |Length=10cm, Width = 15em | 1 |
R S 1

o Watch Video Solution

2. Find the areas of the following teiangles.

&2

° Watch Video Solution



https://dl.doubtnut.com/l/_3LnsGOYT4PBu
https://dl.doubtnut.com/l/_rceWmStAVF9k

3. Find the perimeter and area of the given
parallelogram ABCD. Also, find the distance
between AD and BC.

ﬁ' 0!0«. -,': ¢

A‘/_“‘l

o Watch Video Solution

4. The radius of the circular pipe is 13 cm.
What length of a tape is required to warp

around the pipe once ?



https://dl.doubtnut.com/l/_dwTCodrA3Ta0
https://dl.doubtnut.com/l/_HAhNXwngn8qo

I o Watch Video Solution

5. Reeta wants to fence the graden in front of
her house on three sies. The dimensions of the
three sides are 14 m, 12 m, and 19m. Find the
cost of fencing the garden at the rate of Rs 110

per meter.

o Watch Video Solution

6. The area of a square and a rectangle are

equal. If the length and breadth of the


https://dl.doubtnut.com/l/_HAhNXwngn8qo
https://dl.doubtnut.com/l/_nrLml6qE2g77
https://dl.doubtnut.com/l/_QkKNep6tlts5

rectangle is 40 cm and 10 cm, respectively, find
the side of the square. Also find the perimeter

of the square.

o Watch Video Solution

7. A circular hole of diameter 4 cm is cut out of
a rectangular plate of dimension 10 cm by 8
cm. Find the area of the plate after the hole

has been cut out.

° Watch Video Solution



https://dl.doubtnut.com/l/_QkKNep6tlts5
https://dl.doubtnut.com/l/_qbDI6K3DT8eE
https://dl.doubtnut.com/l/_DgZITXpRGLGA

8. The given figure shows two circles with the
same centre. The radius of the larger circle is
21 cm and the radius of the smaller ciecle is 7
cm. Find the a. ara of the larger circle, b. area
of the smaller circle , and c. shaded ara

between the two circles.

o Watch Video Solution

9. Two crossroads, each of width 3 m, run at

right angles through the centre of a


https://dl.doubtnut.com/l/_DgZITXpRGLGA
https://dl.doubtnut.com/l/_RTLU9qIHUdLi

rectangualr park of length 90 m and breadth
60 m and parallel to its sides. Find the area of
the roads. Also find the cost of constructing

the roads at the rate of Rs 120 per m?.

O Watch Video Solution

10. Deepak took a wire of length 176 cm and
bent it into the shape of a circle. Find the
radius of that circle. Also, tind its area. IF the
sam wire is bent into the shape of a rectangle

of length 7 cm, what will be the breadth of the


https://dl.doubtnut.com/l/_RTLU9qIHUdLi
https://dl.doubtnut.com/l/_1NtnaAM7hbPV

rectangle ? Which encloses more area, the

circle or the rectangle ?

° Watch Video Solution

1. ABCD is a square with sides 12 cm each. Find
its perimeter and area. Cut off a rectangle
measuring C 8cm 2 cm by 4 cm from a corner
as shown in the figure. Find the perimeter and

area of the new polygon thus formed.



https://dl.doubtnut.com/l/_1NtnaAM7hbPV
https://dl.doubtnut.com/l/_TusOLSVVnTtq

o Watch Video Solution

2. The wall of a room is 16 long and 6 m high.
There is a long rectangular window in the wall
measuring 3 m long and | m high. Find the
cost of painting the wall at the rate of Rs 15

per sq. m.

o Watch Video Solution

3. Rahul jogs around a square park every

morning. If the side of the square park is 300


https://dl.doubtnut.com/l/_TusOLSVVnTtq
https://dl.doubtnut.com/l/_vv9eyBV2WiZA
https://dl.doubtnut.com/l/_VclKu4jT4AZB

m, how many rounds around the park does he

need to take if he wants to jog 6 km?

° Watch Video Solution

4. The perimeter of a square and a rectangle
are equal. If the square is of side 14 cm and
the length of the rectangle is 16cm, find its

breadth.

o Watch Video Solution



https://dl.doubtnut.com/l/_VclKu4jT4AZB
https://dl.doubtnut.com/l/_AMBrKsWiCwYA

5.Find the area of a rectangle whose length is
5 m more than 4 times its breadth, and its

perimeter is 60cm.

o Watch Video Solution

6. How many squares of side | mm are required

to form a square of side 1 cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_QzR8QSoHRWGv
https://dl.doubtnut.com/l/_5DbD0mWEV74r

7. How many square tiles of side 20cm are
required to cover the floor of a square room of

side 4m?

o Watch Video Solution

8. The area of a rectangular room is 40 sq. m.

Express the area of the room in sq. km.

o Watch Video Solution



https://dl.doubtnut.com/l/_xoCZwnyY7udF
https://dl.doubtnut.com/l/_7SoNjBdbbQbY

9. A rectangle measures 27 cm by 16 cm. One
diagonal divides the rectangle into two

triangles. Find the area of each triangle.

o Watch Video Solution

10. The area of a parallelogram is 202.5 sq.cm.
If one of its side is 15 cm, find the

corresponding height.

o Watch Video Solution



https://dl.doubtnut.com/l/_IXPBZ6Fu516l
https://dl.doubtnut.com/l/_JlxWDkFfd1tc
https://dl.doubtnut.com/l/_7MK6nnv6NmfI

11. PQRS is a parallelogram. RA and RB are
perpendiculars from R on PQ and PS,
respectively. If RA=15cm,RB =22 cm, and QR =

26 cm, find PQ.

° Watch Video Solution

12. The area of a parallelogram is 243 sq.cm
and its height is one-third of its base. Find the

base.

° Watch Video Solution



https://dl.doubtnut.com/l/_7MK6nnv6NmfI
https://dl.doubtnut.com/l/_s70KPdYO7Qvy

13. The area of a triangle is 192 sq.cm and its

height is 12 cm. Find its base.

o Watch Video Solution

14. The area of a right-angled triangle is 54 sg.
cm. If one of the two perpendicular sides is 9

cm, find the other.

o Watch Video Solution



https://dl.doubtnut.com/l/_YmNgkZEWubRj
https://dl.doubtnut.com/l/_KAjYXl7TVXcv

15. Find the area of an isosceles triangle which

has base 12 cm and equal sides are 10 cm each.

° Watch Video Solution

16. PQRS is a parallelogram with ST
perpendicular to PQ. Given area of A PST = 54
sg.cm, QS = 13 cm, and TQ = 5 cm, find the

perimeter of the parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_JOhyfMn9SbVH
https://dl.doubtnut.com/l/_aQ5VqJFmKF98
https://dl.doubtnut.com/l/_l3Pj9MflV2kc

17. A quadrilateral has a diagonal of 26 cm. The
lengths of perpendiculars on this diagonal
from opposite vertices is 13 cm and 7 cm. Find

the area of this quadrilateral.

o Watch Video Solution

18. ABCD is a parallelogram. Find the ratio of
the area of A ABC to the area of the

parallelogram ABCD.

o Watch Video Solution



https://dl.doubtnut.com/l/_l3Pj9MflV2kc
https://dl.doubtnut.com/l/_D27yKH05zt9D

19. In A ABC, BP and CQ are perpendiculars
from B and C to the opposite sides. If AB = 16

cm. AC= 24 cm, and CQ=20.4cm, find BP.

o Watch Video Solution

20. In APQR.PS 1 QR. PS = 11cm and
area of APQR = T77sq. cmI fareaofDelta

PSQ: areaofDelta PSR =3:4. f € dQS and SR.

o Watch Video Solution



https://dl.doubtnut.com/l/_ot61lg8ew5n0
https://dl.doubtnut.com/l/_rnxNssUPPEW2
https://dl.doubtnut.com/l/_tdIAgD0ur82B

21. Find the circumference of a circle of

22

diameter 21 cm. Take w = -

o Watch Video Solution

22. The ratio of the radii of two circles is 2:3.

Find the ratio of their circumference.

o Watch Video Solution



https://dl.doubtnut.com/l/_tdIAgD0ur82B
https://dl.doubtnut.com/l/_TW1MFyntMvtV

23. A road roller has wheels of radius 70 cm. It

has to work on an 88 km road. How many

revolutions of the wheel will be required for

the road roller to cover the entire length of
22

the road once? Take m = -

o Watch Video Solution

24. A semicircular disc has a radius of 21 cm.

Find its perimeter.

° Watch Video Solution



https://dl.doubtnut.com/l/_D7ynaqWOoEM3
https://dl.doubtnut.com/l/_X2AKlD7AsDTU

25. An increase in the radius of a circle results

in an increase of 6— cm in the circumference.

7

Find the increase in the radius.

o Watch Video Solution

26. Find the area of a circular plate of radius

1.4 m.

o Watch Video Solution



https://dl.doubtnut.com/l/_X2AKlD7AsDTU
https://dl.doubtnut.com/l/_NmKTIjVL8rCW
https://dl.doubtnut.com/l/_q097G4KOYeGh
https://dl.doubtnut.com/l/_HHGRgf7g5hSx

27.1f the ratio of the radii of two circles is 2:3,

find the ratio of their areas.

o Watch Video Solution

28. A circular racing track is such that its outer
circumference measures 440 m and its inner
circumference is 396 m. Find the width of the

track.

A. 10m

B.9m


https://dl.doubtnut.com/l/_HHGRgf7g5hSx
https://dl.doubtnut.com/l/_FoDp7QK1Dl1r

C.8m

D.Tm

Answer: D

° Watch Video Solution

29. Convert the as direct.

7 sq.Cm into sq. nm

o Watch Video Solution



https://dl.doubtnut.com/l/_FoDp7QK1Dl1r
https://dl.doubtnut.com/l/_EJ6JD2bgsceD

30. Convert the as direct.

0.5 sg.cm into sgq. mm

o Watch Video Solution

31. Convert the as direct.

2.9 sq.cm into sq. mm

o Watch Video Solution



https://dl.doubtnut.com/l/_2JyyPTKobPPa
https://dl.doubtnut.com/l/_ba5fxaid4i6J

32. Convert the as direct.

5000 sq. mm into sqg.cm

o Watch Video Solution

33. Convert the as direct.

6.5 sq. m into sq. cm

o Watch Video Solution



https://dl.doubtnut.com/l/_cpGJNdjuSA9F
https://dl.doubtnut.com/l/_gBZgh7WpRPwo

34. Convert the as direct.

0.005 sq. m into sg. cm

o Watch Video Solution

35. Convert the as direct.

10 sg. km into sq. m

o Watch Video Solution



https://dl.doubtnut.com/l/_N5087BrQDuZa
https://dl.doubtnut.com/l/_OZFsqf7hVlqW

36. Convert the as direct.

50000 sqg. m into sq. km

° Watch Video Solution

37. A rectangular garden is 124m long and 92
m wide. Find the cost of making a 3-m wide

path araound it at the rate of Rs 160 per sq. m

o Watch Video Solution



https://dl.doubtnut.com/l/_NlohwWAzvNKq
https://dl.doubtnut.com/l/_toBZ73BMxUrx
https://dl.doubtnut.com/l/_C5hjMQ7ubFL9

38. Find the ara of the shaded region.

L.

L

o Watch Video Solution

39. A rectangle is 36 m long and 24 cm wide.
From one of its smaller sides, an isosceles
triangle

Lo

With base 24 cm and the two equal sides 15

cm each is cut off. Find the area of the

remaining portion.


https://dl.doubtnut.com/l/_C5hjMQ7ubFL9
https://dl.doubtnut.com/l/_8FRHUMoSpcMW

° Watch Video Solution

40. The smaller side of a rectangular window
28 cm by 50 cm is surmounted by a
semicircular window. Find the area of the

window thus formed.

&2

° Watch Video Solution



https://dl.doubtnut.com/l/_8FRHUMoSpcMW
https://dl.doubtnut.com/l/_tieGrUMOnagG

41. A circle is of diameter 12 cm. Two circles of
diameters 4 cm and 8 cm, respectively, are
drawn inside this circle with the centres on
one of the diameters of the bigger circle. Find
the area of the remaining region of the bigger
circle . Take m = 3.14.

L

L

o Watch Video Solution



https://dl.doubtnut.com/l/_rrz85YJih1Dc

